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The due date for submitting this assignment has passed. Due on 2018-09-19, 23:59 IS
As per our records you have not submitted this assignment.

1)

Announcements Course  Ask a Question Progress FAQ

BEHOOR

For L-U decomposition method, what is the order of number of calculation for forward 1 point
elimination backward substifution and L-U factorization; if the size of coefficient matrix

BEnXn
{(a) o’ .o’ and o’
(b) o* . o’ and
{c) o* .o and
{(d) n_ o’ and o’

a)
b)
c)
d)

—_— o~ o~ o~

No, the answer is incorrect.

Sc

ore: 0

Accepted Answers:

(b)

2) (Consider one dimensional steady state conduction without volumetric heat generation 1 point
through a rod of length L. Given that at x=0 and %=L heat flux is ¢ W/m’. Following
statements are given pertaining to the numerical solution of the above problem:

(1) Unigue temperature profile cannot be obtained.

(i) The problem is ill-posed.

(1ii) Tri diagonal matrix algorithm (TDMA) works to solve the problem.
Which of the above statements are comect?

(2) (1). (11) and (u1)
(b) (1) and (ii) only
(c) (1) only

(d) (11) only

a)
b)
c)
d)

—_ o~ o~ o~

No, the answer is incorrect.

Sc

ore: 0

Accepted Answers:

(b)
3)

1 point
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(a) (1) and (i1) are comrect

(b) Only (1) is correct

(c) Only (ii) is correct

(d) Neither (1) nor (if) is correct

Assignment
Solution

Live Session - Sep
13,2018

a)
b)
c)
d)

—_ o~ o~ o~

No, the answer is incorrect.
Score: 0

Accepted Answers:

(a)
4) For vector x = {1,234} . what 1s the first and second norm?

(a) 3 and 30'7

(b) 10 and 3012
(€) 30 and 3012
(d) 10 and 1012

a)
b)
c)
d)

—_ o~ o~ o~

No, the answer is incorrect.
Score: 0

Accepted Answers:

(b)
5) For matrix A:

Statement I: ||A||] =max (column sum norm) and ||A||,. =min (column sum norm)
Statement IL: ||A||1 =max (column sum norm) and ||A||,D =max (row sum norm)

Statement IIT: ||4||] =max (row sum norm) and ||A||,._= min (row sum norm)

Correct the right choice regarding the statements:

(a) Only Iis correct

(b) Only II is correct

(¢) Only IIT is correct

(d) Only I and IIT are correct

(a)
(b)
()
(d)

No, the answer is incorrect.
Score: 0

Accepted Answers:

(b)
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6) Properties of matrix norm: 1 point

Statement I: ||kA" — |k|||A|| here kis a scalar
Statement IT: ||AB|| = ||A||||B|| and ||A + B” < ||A” + ||B||

Statement IIT: ||AB|| > ”A”"B and ”A + B" = ||A|| + ||B||

Correct the right choice regarding the statements:

(a) Only Iis correct

(b} Only I and II are correct
() Only I and IIT are correct
(d) Only II is correct

a)
b)
c)
d)

—_ o~ o~ o~

BEOOR

No, the answer is incorrect.
Score: 0

Accepted Answers:
(b)
7) 1 point
What 1s the condition number for coefficient matrix A . in the context of elimination method :
@ i+
®) 4|7
© 4l 47
@ Al

a)
b)
c)
d)

Py

No, the answer is incorrect.
Score: 0

Accepted Answers:

(b)
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8) 1 point
Consider the solution of a,¢ =bd; + ¢, +d, by using Tri-diagonal matrix algorithm.
The algorithm can be written as
(a) Input a.,b,c,,d

FEda B |

= i: O = ﬂ
a a
fori=2. N
‘.'?= b& :g=df+cr' f—]: u
ai i ij?-l. af +(-'r- i-1
end u
¢y = Oy
for i=N-1. 1 m
¢ =Fd.,+0:
end
(b) Input a.b.c,.d,
A= il O = i
i a
fori=2. N
pobtaRy o d
; — G a; — ;0
end
¢y =0y
fori=N-1.1
¢ =FEd,+0::
End
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(c) Input a_.b.c.d,

R =ﬁ" Ql =£
a] a'l

fori=2. N

P = .b; +{:II_::._.| £ i = dr' 9
af + c‘l'g'—l an‘ + l:'.EQ"]:‘-]

end

dy =0y

fori=N-1.1

4, =P, +Q:

end

(d) Input a,,b.c,.d,

d
f-; :ﬁ; Ql =1
a] I:-'I'I
fori=2. N
P: s E)i' 1O e dl' +C|'Qi—1 .
a:’ L ijjl-—l al' _CEE—I
end
¢y = Oy
fori=N-1.1
¢ =Ep.,+0:
end
(a)
(b)
(c)
(d)

No, the answer is incorrect.
Score: 0

Accepted Answers:
(@)
9)  Consider the following statements regarding Tri-diagonal matrix algorithm:
(1) The computational load increases linearly with number of linear equations
(i1) The computational load increases with square of the number of linear equations
(1ii) Coefficient matrix has to be diagonally dominant to guarantee stability
Correct the right choice regarding the statements:
(a) Only (1) is correct
(b) Only (ii1) is correct

(c) (i) and (1ii) are correct
(d) (ii) and (iii) are correct

a
b
(¢
d

_~ o~ o~ o~

)
)
)
)
No, the answer is incorrect.

Score: 0

Accepted Answers:

(c)

https://onlinecourses-archive.nptel.ac.in/noc18_me48/unit?unit=66&assessment=73

BEOOR

1 point

5/6


https://www.facebook.com/NPTELNoc/
https://twitter.com/nptelindia
https://www.youtube.com/user/nptelhrd
https://www.linkedin.com/company/nptel/
https://plus.google.com/u/0/+nptelhrd

27/07/2020 Computational Fluid Dynamics - - Unit 8 - Week 7
10 Consider the linear equation 4Av = b . Let us express 4 = L + D+, where L is a lower 1 point
triangularmatrixz, 0 is a diagonal matrix and L7 is an upper triangular matrix. All diagonal
elements of L and [/ matrices are zero. Using fhis definition. we can wrife:
Dhe=—L+LNx+ b . This vields us:

x4 =D [b-(L+U)x"]

Which of the following iterative methods does the above expression represent?
(a) Jacob iteration

(b) Gauss-Seidel

(c) both Jacobt and Gauss-Seidel

{d) Successive under-relaxation with @ = 0.5

a)
b)
c

)
d)

Py

No, the answer is incorrect.
Score: 0

BEOOR

Accepted Answers:

(a)

Previous Page End

© 2014 NPTEL - Privacy & Terms - Honor Code - FAQs -

A project of In association with
% N PT E Mational Programme on ®
' Tel;;hnolo-r_}',r Enhanced | eaming N AS s c o M
Funded by Powered by

Government of India w
Ministry of Human Resource Development Google

https://onlinecourses-archive.nptel.ac.in/noc18_me48/unit?unit=66&assessment=73 6/6


https://onlinecourses-archive.nptel.ac.in/noc18_me48/unit?unit=66&lesson=72
https://onlinecourses-archive.nptel.ac.in/noc18_me48/course
https://nptel.ac.in/
http://www.nasscom.in/
http://mhrd.gov.in/
http://www.google.com/
https://www.facebook.com/NPTELNoc/
https://twitter.com/nptelindia
https://www.youtube.com/user/nptelhrd
https://www.linkedin.com/company/nptel/
https://plus.google.com/u/0/+nptelhrd

